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List the following information:
1. The attributes of the User entity: UserlID, CoachlD, Name and HabitNum

2. The primary and foreign keys of the Comments entity. For each of the foreign
keys identify the entity and item they reference: The primary key of the
comments entity is the UniquelD and the foreign keys are HabitCheckinID which
references the Checkin entity and the HabitCheckinID item in that entity, UserID
which references the entity Users and the UserID item in that entity, and the
CoachlID which references the Coaches entity and the CoachlD item in that entity.

3. The type and cardinality of the Users-Coach relationship: The relationship is a
one to many relationship and the cardinality is that a coach can have many users
while a user can only have one coach.

4. The type and cardinality of the Users-Habit relationship: The relationship is a
many to many relationship while the cardinality is such that a user can have many
habits while a habit must have at least one user.

5, The primary key for the Coach relation/table: The primary key is CoachID



